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Which of the following has
smallest ionic radius ?

(A) Mg**

(B) ;A3

(C) oF~

(D) 165%~

Which of the following has largest
atomic size ?

(A) (Na

(B) Mg

(C) oF

(D) ;,Cl

Which of the following elements
has largest negative electron gain
enthalpy ?
(A) F
(B) Cl
(C) Br
D) 1
Among the following, which are
paramagnetic molecules?
N,, CO,0,,NO
(A) N,andCO
(B) COandO,
(C) 0Oj,and NO

(D) N, and NO

fv= 4 9§ foae smfe Boar 9
A g ?

(A) Mg**

(B) ;A3

(C) oF~

(D) 168%~

1 o 9 fhaa WA MR Haifeid
g ?

(A) (Na

(B) 1-Mg

(C) oF

(D) ,Cl

1 # &9 o9 d@ @ goldeE oy

T waifs FomeHd € ?
(A) F

(B) Cl

(C) Br

(D) 1

e 3 9 aF gEeN 31
&?N,, CO, 0, NO

(A) N,TdCO

(B) COvdO,

(C) 0,TWdNO

(D) N,TINO
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5. The number of lone pair of 5. H;0'% T=d WA W IURed

electrons present on the central TP goaei g™ Pl T T
atom of H;07 is : (A) 0
A) 0 (B) 1
(B) 1 ) 2
€ 2 (D) 3
(D) 3
6. Which among the following 6. = GleIGﬁ 4 ¥ fode o fRa @%‘c[
molecules has a finite dipole aTgLuf 27
moment ? (A) N,
(A) N, (B) CO
(B) CO (C) BF,
(C) BF; (D) CH,
(D) CH,
7. Which of the following molecules 7. fy= & 3 f&a 3 W Al el
has maximum covalent character ? TG © ?
(A) NaCl (A) NaCl
(B) CsCl (B) CsCl
(C) MgCl, (C) MgCl,
(D) CCly (D) CCl,

8. Which is an example of Vander 8. qre] dled I fhaT &1 dH Td

Waals interaction ? IS & ?

(A) Dipole — dipole mteraction (A) Rya —Rum S=IT fh

(B) Ion — dipole interaction (B) T oy v e
(C) 3 — 3R = foha
(D) FEHIISI ATqE

(C) Ion — ion interaction

(D) Covalent bonding
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0. Which pair is wrongly matched ? 0.

(A)
(B)
©

(D)

10. Who is considered as Father of 10.

Charak — Medicine
Sushruta —Surgery
Dr. Hargovind Khorana —

Genetic code

Dr. S.N. Bose — Economics

Indian chemistry ?

(A)
(B)
©
(D)

11. The amount of repulsion among 11.

Acharya P.C. Ray
Dr. C. V. Raman
Dr. J. C. Bose

Dr. Shanti

Swaroop

Bhatnagar

electron pairs is maximum in :

(A)

(B)

©

(D)

Lone pair —lone pair
repulsion
Lone pair — bond pair
repulsion
Bond pair — bond pair
repulsion
Repulsion is same among all

electron pairs

P A T TeAd © 7

(A) TWH — HASRH

(B) WA — Wi

(C) Sfo Mg WA — WiHfcH
CIS

(D) <fo THo To I — AL
fohl R YR AR @ fUar A
ST © ?

(A) 3mar dio o X

(B) Sio ¥lo dlo T

(C) Sfo Tlo Ao I

(D) Sfo IMT WHY AR

gIlagE g & HEg UTByur Bl A

e gl © :

(A) TE JH TG A G
i

(B) TdhTa! J-3meel I ufaador #

(C) madt W — Imaell W ufcrapor
i

(D) T Sofae™ Il & 7Y YiaHyor
A BT &

Series-C

B.Sc. - B020101T/ 564

Page - 5



12.  The structure of a molecule is  12.  f&¥l o] & TR FRIRT Bl @ -
decided by : (A) Fadl Ml Serdg Il gRT
(A) Bond pairs of electrons only (B) Sl TP gerder w ERT
B) Lone pairs of electrons onl : : : o
®) P Y (C) THl el Td THI@l goae
(C) Both bond pairs and lone _
Il gRT
pairs of electrons
D) 9 @ 3 W A & e
(D) Neither bond pairs nor lone D) _ s
pairs of electrons W &Kl
13.  The bond angle(s) produced due to 13, sp3d?Haxo T BRY  IIH 8
sp3d? hybridisation is/are : F
qrelt / /
(A) 109°28' (A) 109° 28’
(B) 120° and 90° (B) 1200@900
C) 90°
© (C) 90°
(D) 72°and90° :
(D) 72°Uq90°
14. The VSEPR theory was put 14. VSEPR figid & yfoufed fear
forward by : o :
Lewi o :
(A) Kossel and Lewis (A) BT T T N
(B) Hund and Mulliken o
(B) §S U4 Hfcrd g1
(C) Sidgwick and Powell
(€) Rifld® v daet g
(D) Heitler and London
(D) IR Ud ded gRI
Series-C B.Sc. - B020101T/ 564 Page - 6



15.  Which among the following group 15. 9 % 9 ddl & foa NESE @l ﬁ'@gﬁ

of elements have least FOTHGAT GATH 27
1 tivity ? <
electronegativity (A) &R e
(A) Alkali metals .

(B) &RIT T oy
(B) Alkaline earth metals

(C) AT e
(C) Oxygen group

(D) 2T

(D) Halogens

16. The electronegativity of an 16. B3l qcd Dl ﬁﬂgﬁ RUMHDAT bl HIUT

element is measured by : 2 2
Pauli 1 20

(A) Pauling scale (A) -
(B) Mulliken scale

(B) Hfod Wbl
(C) Allred-Rochow scale

(C) 3cls @l Wod
(D) All of the above

(D) UG T

17. QBasicisa: 17.  QBasic® U :

(A) Low level language (A) IR RBCIE S
(B) Assembly language (B) i S
C) High level language :
(C) Hig guag ©) T dmw

(D) Software product

(D) \MUCIIR Ylsdc
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18.  Which of the following is a high ~ 18. ¥ # | @ F™YX & & T odd
level language in computer ? e © ?
(A) C++ (A) C++
(B) Java (B) Java
(C) Java script (C) Java script
(D) All of the above (D) Gﬂ?j_cﬁ I
19.  Which one of the following is a Z 19. 99 % q o9 6 Z9999q © ?
isomer ?
H3C\ /Br
(A) c=—_C (A) ch\ a
W \CI C==c¢
/ AN
H cl
H;C Cl
\c —¢ HsC cl
Br
N
H;C Cl
© e’ e 8
Br/ \H © C==C¢C
H;C H Br/ \H
® / HiC ’
C e C 3
D) AN /
W o c—=cC
’ e AN
H CH;
20. Which is the most stable 20. 39 ¥ q P Tgdclied b1 Tdiftld
conformation of cyclohexane 2l 9wy g ?
molecule ? (A) TR
(A) Chair (B) & IR
B) Half chair
(B) Hal (©) Raw e
(C) Twist boat N
(D) Boat (D)
Series-C B.Sc. - B020101T/ 564 Page - 8



21. Which among the following 21. 9 GleI%ﬁ 49 o @?{1_0[ SHEIUS[
molecules has largest dipole Faife® & ?
moment ? (A) 0-SESTAR
(A) o-Dibromobenzene B) m S
(B) m-Dibromobenzene
(C) p-Dibromobenzene © p_mﬁﬂq
(D) 1,3,5-Tribromobenzene (D) 1.3,5-5TAieA
22.  Geometrical isomerism is shown  22. UMY Fo@Iddr yehfd @ W ©
by : Cl}ﬁ‘ (A) Cl }ﬁ‘
@ oo
(B) CgHs —C—CH;
(B) C¢Hs —C—CH; N — OH
N — OH
H (C) H3<‘\C = C/CH3
© N_" o
H/ AN
) Sww
(D) All of the above
23.  Which of the following structures  23. 9 § I @9 A I No—o™
produces cis- trans isomerism ? FHIIGAT Sa~ Pl & ?
(A) azc=ca, (A) a,c=ca,
(B) azc=ch, (B) ac = cb,
(C) abc = cb, (C) abc = cb,
(D) abc = cab (D) abc = cab
Series-C B.Sc. - B020101T/ 564 Page - 9



24. d-Lactic acid and l-Lactic acids 24.  d-dfded I Tq |-uifded ot &
are: (A) Ufifew w9 (Tf~Tam)
(A) Enantiomers (B) SEIRITS
(B) Diastereomers (©) P e
(C) Geometrical isomers R L—
(D) Conformational isomers
25.  According to Pauling scale, the 25. Uifelm 99 & ?ﬂ_jﬂ]'\’,ﬂ?ﬁ il ﬁ?{gﬁ
correct option for electronegativity FUTHGAT D Fel fdbey B
of elements is : (A) Li>Na>K
(A) Li>Na>K (B) F>N>0
(B) F>N>0 (C) Cl>F>Br
(C) CI>F>Br (D) N>O>F
(D) N>O>F
26.  Among the following molecules,  26. 7% 3Rl # ¥ fbdar amey Hifc
which has least bond order ? e 2 ? N,,CO,0,,NO
N,,CO,0,,NO A) N,
(A) N B) €O
(B) CO
©) O,
©) O,
(D) NO (D) NO
27.  Which molecule in liquid state has 27. fod 3] & g9 qaxT H EEQGFT
hydrogen bonding ? e BT & ?
(A) HF (A) HF
(B) H0 (B) H,O
(©) NH, (C) NHj,
(D) All of the above (D) GT@?H 9 5
Series-C B.Sc. - B020101T/ 564 Page - 10



28.  Which of the following cations has ~ 28. 7 # ¥ &9 g9 @9 @l gav &Hdr
maximum polarizing power ? Haiee g ?
(A) Na* (A) Na*
(B) K* (B) K*
(© Mg™ (© Mg
(D) AP* (D) AI+
29. The % s character in sp®  29. sp3W@RU H % s eI BT § :
hybridization is : (A) 25
(A) 25 (B) 33
(B) 33 (C) 50
©) 50 (D) 67
(D) 67
30. H atoms are most acidic in : 30. HUHI T AeD 3T B © -
(A) Methane (A) O
(B) Ethane (B) WO
(C) Ethene ©) i 3
(D) Ethyne
(D) T #
31.  The number of angular nodes in a  31. f&dl p@erd @ fory @i ARl @
p orbital is : TEIT §
A) 0 (A) 0
B) 1 (B) 1
€ 2 C) 2
(D) 3 (D) 3
Series-C B.Sc. - B020101T/ 564 Page - 11



32.  Which among the following 32. 9 ¥ 9 &F @ S LN afafrn @
molecules react fastest by Syl SR dga¥ arAfshar e ?
reaction ? (A) (CH3)sC — Br
(A) (CH3)3C—Br (B) (CH;),CH — Br
(B) (CH;3),CH — Br (C) CH;CH, — Br
(C) CH3CH, — Br (D) CH, — Br
(D) CH; —Br
33.  The probability of selecting a boy ~ 33. 7 @g® Ud 5 dsidhdl el W8 4 Ud
from a group of 7 boys and 5 girls qSD B TAIT Bl WD B
IS : (A) 7/12
(A) 7/12 (B) 5/12
(B) 5/12 ©) 1/7
©) 177 (D) 5/7
(D) 5/7
34 The value of% 1S : 34. 2?—;'W LICE
(A) 504 (A) 504
(B) 1008 (B) 1008
(©) 1512 (C) 1512
(D) 3024 (D) 3024
35.  The shape of CIF; molecule s : 35, CIF;319 &l | g
(A) Trigonal planar (A) o e
(B) Trigonal pyramidal (B) i RRIE
(C) T-shape © T 3“?%
(D) Distorted tetrahedral N .
(D) TdPpd AP
Series-C B.Sc. - B020101T/ 564 Page - 12



36.  What is the hybridisation of X,  36. X F, # X URAIY] G HHOT HT 8 ?
atomin X,F, molecule ? (A) sp
(A) sp (B) sp3
(B) sp® (C) sp3d
(C) sp’d (D) sp3d?
(D) sp°d®
37.  Slater rules are used to measure : 37. T W @ OAUY § wlex Rl @I
(A) Electronegativity ITIRT Blar & ?
(B) Electron gain enthalpy (A) ﬁﬂﬂﬁ rlir<ereastt
(C) Ionisation enthalpy ®B) o o e
(D) Eftective nuclear charge
(C) I T
(D) WG DI e
38. The correct sequence of atomic 38.  URHI AR Bl el P9 ¢
size is : (A) CI* <Cl<Cl™
(A) Cl*<cl<Cl (B) CI- < Cl* < Cl
(B) ClI- < Cl* <l (€) C-<cl<cl*
(©) C-<cl<Cl* (D) Cl< Cl* <Cl-
(D) Cl<Cl* <Cl”
39.  Which of the following is related ~ 39. = # & N foll HFgex & 9K &
to memory of a computer ? g g ?
(A) RAM (A) RAM
(B) VDU (B) VDU
(C) DVD (C) DVD
(D) ALU (D) ALU
Series-C B.Sc. - B020101T/ 564 Page - 13



40.  Which is not an Input device ina  40. /= H ¥ 3 PRYX P Tdh §TYC
computer ? fSareq =2 © ?
(A) Punched card (A) W e
(B) Scanner B) -
(C) Printer
(C) fi
(D) Optical Mark Reader
(D) afledd Ad IR
41.  Which among the following is not ~ 41. {9 § & -1 T PRI 3MRfET
a computer operating system ? e 98l g °?
(A) LINUX (A) LINUX
(B) Windows (B) Windows
(€) DOS (C) DOS
(D) Python (D) Python
42, Which of the following is an  42. 9% ¥ ¥ BN HFYKR & [F ATSCYC
output device in a computer ? fSarga 27
(A) Keyboard (A) R ICIRS
(B) Mouse (B) o
(C) RAM © W
(D) Projector
(D) WoiaeR
43.  Which of the following is a 43. 9 ¥ 9 & Ud R TG 8 ?
temporary effect ? (A) IR JTg
(A) Inductive effect (B) TAFERRI T
(B) Electromeric effect (C) SFTE T
(C) Resonance effect _
(D) Hyperconjugation ®)
Series-C B.Sc. - B020101T/ 564 Page - 14



: h
4. The reaction - CH, + €1, = CH,Cl + HClaffsan
h
CH, + Cl, = CH,CI + HCl occurs Fuifed gidl g
through : (A) TOEEITER UfRRTT gRT
(A) Electrophilic substitution ®) TR ) e T
(B) Nucleophilic substitution
(C) Y& el JfARATIT IR
(C) Free radical substitution
D) ST ¥ 9§ IIE TaI
(D) None of the above ®) T
45.  Which among the following is 45. 9 & ¥ @9 W1 SETARA FdRd
most stable carbocation ? g ?
(A) Tropylium (C,H¥) cation (A) ISR (C,H:)uRH
(B) Triphenylmethyl carbocation (B) BRI BIFRM
C) Isopropyl carbocation
(€) Tsopropy (C) sl Wit FIEeFRA
(D) Methyl carbocation
(D) ¥R FEEHRA
46. Which among the following is 46. /4 # ¥ &F & 9 Yo WS
most stable free radical ? W g ?
©) (CHS)ZCH (@ (CHS)ZCH
(D) (CH)sC (D) (CHy)at
47. d-Tartaric acid and Meso-Tartaric 47.  d-cIeRa 3 Tq TA—TTeR® IR T—
acids are : (A) Ufifew w9 (Tf~Tam)
(A) Enantiomers (B) SEIRITS
(B) Diastereomers ©)
(C) Geometrical isomers _
(D) YUY FHIGUG
(D) Conformational isomers
Series-C B.Sc. - B020101T/ 564 Page - 15



48.  Which of the following structures ~ 48. 79 # q @ A WA E-Z F9Iqd
produce E-Z isomers ? I~ By § ?
A =
(A) ;¢ = cb, (A) a,c=ch,
(B) abc = cab (B) abc = cab
(C) abc = cax (C) abc = cax
(D) abc = cxy (D) abc = cxy
49. Homolytic fission of a covalent 49. fbdl WEGINH & & FHUHCH!
bond produces : e ST el B
(A) Free radicals
(A) Fad Jeld
(B) Carbocation’s
(B) eI
(C) Carbanions
(C) IR
(D) Benzyne intermediate
(D) g Head
50. The correct order of stability of  50. HEEAIAl & R BT Tl HH © :
carbocation’s is : (A) (CHy)5C> (CHy)oCH > CH;CH, > CH,
(A) (€H3);C> (CHy),CH > CH;CH, > CH, (B) (CH3)ZEH > CH3EH2 > (CH3)3E > EH3
(B)  (CH4),CH > CH,CH, > (CH;)5C > CHy (C)  CH;CH, > (CHy),CH > CHj > (CHs)sC
(C)  CHyCH, > (CHty),CH > CHy > (CHy)sC (D) CHy > CH;CH, > (CHy)oCH > (CHy)sC
(D) (+:H3 > CH3EH2 > (CH3)ZEH > (CH3)3E
Series-C B.Sc. - B020101T/ 564 Page - 16



51.  Which of the following is 51. 7 # d 3N SI=OT TP & @ -

paramagnetic in nature ? (A) B,

(A) B, B) C;

(B) C, (C) CO
(C) CO (D) NO*
(D) NO*

52.  The bond order of NO molecule is: 52. NO 1] @ A B B

(A) 25 (A) 2.5
(B) 2.0 (B) 2.0
©) 15 ©) 15
(D) 1.0 (D) 1.0
53. Due to which effect of CH;— 53. CH; -9 & fhd W& & SR
group the ethanoic acid is weaker BIAIgD AR bl o ¥ UIHIgd 3t
acid than methanoic acid ? _f's_si‘_'[ 3T & ?
(A) +Ieffect
(A) +1 g
(B) —TIeffect
(B) —Iv¥mg
(C) +E effect
(C) +E g
(D) +M effect
(D) +M 1@

Series-C B.Sc. - B020101T/ 564 Page - 17



54. Which of the following is an 54, /9 ¥ W @9 U6 IAde el

electrophilic reagent ? AfPHD & ?
(A) OH™ (A) OH-
(C) AlCl; (C) AlCl,
(D) CN™ (D) CN-

55. The number of sigma and pi bonds 55, UIEd (C,H,)3T 4 R oud e

in ethyne (C,H,) molecule are, e B W& & HH —
respectively : (A) 2793
(A) 2and3 :
B) 27q2
(B) 2and2
(C) 3790
(C) 3and0
(D) 3792
(D) 3and2
56.  The —I effect is shown by : 56. 19919 YR fohar & B
(A) —CN (A) —CN gRT
(B) —NO, (B) —NO,ERT
(C) —COOH
(C) —COOHgrT

(D) All of the above
(D) SuIF T &R

Series-C B.Sc. - B020101T/ 564 Page - 18



57.  What is the value of °C, ? 57. °C,m A @ ?
(A) 15 (A) 15
(B) 30 (B) 30
(©) 60 (C) 60
(D) 120 (D) 120
58. If log2=0.3010 and log3 = 58. aT log2 = 0.30103IR log3 =
0.4771 then the value of log 6 will 0.4771%8 @ log 6 BT W BN
be: (A) 0.7781
(A) 0.7781 (B) 0.1761
(B) 0.1761 (C) 0.6308
(€) 0.6308 (D) 0.1436
(D) 0.1436
59.  The structure of SF, molecule is : 59.  SF, 37 P AT T
(A) Tetrahedral (A) a—g”wzﬁ'q
(B) Distorted tetrahedral ®) f P A Gan
C) Square planar
(€) Squarep (C) 0 FHI
(D) Octahedral
(D) IHADIY
60.  Which of the following molecules ~ 60. 4/ # & foa o] & fgega amept ¥
has zero dipole moment ? g7
(A) PClg (A) PCls
(B) HCI (B) HCI
(C) NHj; (C) NH,
(D) NF; (D) NF,
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6L If sin60° = —\/; and cos60° =+ 61 Ife¢ Sin 60° = —\/;QH cos 60° = 1;%
then what is the value of cot 60° ? @ cot 60°T FAT HF BN ?
(A) 4/V3 (A) 4/V3
(B) V3 (B) V3
(©) 1/¥3 ©) 1/v3
(D) —3/2 (D) —/3/2
62. If °P= 720 then what is the value ~ 62. IfT P=7208 A r BT &I T & ?
of r? (A) 0
(A) 0 (B) 1
B) 1 (C) 4
©) 4 (D) 6
D) 6
63. The effective nuclear charge for  63. f&dl N URHTI] & qEaH Sode W
the outermost electron in a N atom gaTdT 1RSI a9 &
is : (A) 7.0
(A) 7.0 (B) 5.8
(B) 5.8 (C) 3.9
© 39 D) 3.3
(D) 33
64. The formal charge on the central 64. fHA o 3] & Harg SR
oxygen atom in an ozone molecule TRA] R WTH 3T &
1S : (A) 0
(A) 0 (B) +1
(B) +1 © -1
© -1 (D) -2
D) 2
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65. ‘MATLAB’ is a/an : 65. ‘MATLAB’Z U% :
(A) Input device (A) 34 fearga
(B) Output device (B) 3SR fSarga
(C) Computer code (C) TR e
(D) Software product (D) ATERR Teae
66.  Which of the following is a 7 Bit ~ 66. 4= # ¥ @ U& 7 Bit PRI IS
computer code ? 27?
(A) BCD (A) BCD
(B) ASCII (B) ASCII
(C) EBCDIC (C) EBCDIC
(D) All of the above (D) GT@_‘H T
67. Which of the following subshells  67. f= & ¥ &9 4 SUGT =& umT
is not found ? ST[AT?
(A) 4f (A) 4f
®B) 3p (B) 3p
(C) 2d (€) 2d
(D) 1s (D) 1s
68. H,C H 68. H,C H
oo -
H3C/ \CH(CH3)COOH H3C/ \CH(CH3)COOH
The above molecule shows : Gﬂ?j‘cﬁ 3] EHNRICAGIR
(A) Geometrical isomerism (A) ST TR
(B) Optical isomerism (B) IR GHIGHET
(C) Both geometrical and optical ©) e T gl
isomerism _
(D) Neither geometrical nor o _
optical isomerism (D) AT TF HPIRT
EEIEEE]
Series-C B.Sc. - B020101T/ 564 Page - 21



69.  The enantiomers differ in their : 69.  Ufifds T (T~ fefar e &
(A) Direction of optical rotation (A) THIRIG ToiF @ faer #
(B) Melting points (B) ToHi® 3§
C) Physical properties :
(C) Physical prop (C) ifcre o #
(D) Chemical properties _
(D) RIS oM
70.  Maleic and Fumaric acids are : 70.  Holsd Ud WHRE 37 @ -
(A) Structural isomers (A) TREIHS GHIaTd
(B) Geometrical isomers (B) R I
C) Optical isomers
(€ Op (C) UbIRiey AT
(D) Conformational isomers _
(D) YUY FHIGUG
71.  Heterolytic fission of C — Brbond  71. C — Brd®l &I fdv mgesl fdgcoH
produces : I~ Pl ©
(A) Two free radicals (A) a T T
B) Two carbocation’s
®) (B) Tl BHIEEAIA
(C) Two carbanions
(C) T BT
(D) One cation and one anion
(D) Ud 9194 Ud U RUMIA
72.  The shape of methyl carbocation  72.  {fdof HreeHEIA +CH3EF‘>3[ 31@% 2
+ .
CHj1s : (A) [EENiRIGERRID:
(A) Trigonal planar B) Bt AR
(B) Trigonal pyramidal (©) W
Tetrahedral
(C) Tetrahedra D) v
(D) Linear
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73.  Which of the following element 73. {9 % ¥ &N 41 T IWR dU W
cannot form H-bond at ordinary H-316Y <IE} &1 qpar ?
temperature ? (A) F
(A) F (B) O
B) O (C) N
© N (D) Cl
(D) Cl
74.  Which of the following has longest ~ 74. = ¥ q fhge) ey e Gaidd
bond length ? 27
(A) 03 (A) 0F
(B) 0O, (B) 0,
(N (C) 03
(D) 03~ (D) 02~
75.  The number of radial and angular ~ 75. 3d®&d ¥ 3y A€ T4 SO Al @I
nodes in 3d orbital are, AT 8 HHIT —
respectively: (A) 2742
(A) 2and?2 (B) 0742
(B) 0Oand?2 :
(C) 3and0 © 3 QETO
(D) 3and2 (D) 3%42
76.  Intramolecular H-bond is present  76. 3N 3D H-31T§eT 13T rel @
in : (A) HF #
(A) HF (B) o-TEefhre ¥
B) o-Nitrophenol NS
EC; p-Nitrthenol © _ i
(D) H,0%
(D) H;0
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77.  The hybridisation of C atoms in  77.  WUIgd 3] qC WT%’:ﬁ BT AHROT BT
propyne molecule is /are : &
(A) sp and sp? (A) spUd sp?
(B) sp? (B) sp?
(C) sp® (C) sp?
(D) sp and sp? (D) sp T sp’
78.  The correct order of C — Cbond 78.  C— C3m€y Wl'ﬁ @1 el HH YT ST
length is found in : g
(A) Ethane > Ethene > Ethyne (A) 39> T SgaTE
(B) Ethane > Ethyne > Ethene ®) 3 O >goTeT ST
(C) Ethene > Ethane > Ethyne
(D) Ethyne > Ethene > Ethane © i > >R
(D) 3T >TiT >3
79.  Which of the following anions has ~ 79. = # ¥ &9 %o @1 gav
maximum polarizability ? Faife® & ?
(A) F~ (A) F~
(B) CI~ (B) CI-
(C) Br~ (C) Br-
(D) 17 D) I-
80. The molecule with trigonal 80. Proriy GRS e aren 3T g
bipyramidal structure is : (A) IF,
(A) IF7 (B) BrFs
(B) BrFs (C) PClg
(C) P (D) XeOF,
(D) XeOF,
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81. In how many ways the letters of 81. ¥&“EFFORT” & 38R & fhav UbR
word “EFFORT” can be arranged? ¥ ggRerd fhar S godr & ?
(A) 360 (A) 360
(B) 720 (B) 720
(€) 540 (C) 540
(D) 480 (D) 480
82. A simple Ludo dice is tossed what ~ 82. Udh HMY Tﬁ—ﬁ Ul (dice) @I SBTl
is the probability for even numbers AT | S Fdg WG9 9] & 3 D)
on the upper side ? yTRHaT @ &
(A) 1/6 (A) 1/6
(B) 1/3 B) 173
©) 12 © 12
(D) 5/6 D) 5/6
83.  Which of the following has bond  83. = & § fobepr aay ife =1 22
order =1 ? (A) 0%
(A) 03~ (B) 05
(B) 07 (C) 0,
©) 0 (D) 05
(D) 0;
84. The C — C — C bond angle in  84. TURET HC — C — C 349 IV 21 & :
propyne is : (A) 109°28'
(A) 109°28 (B) 120°
(B) 120° (C) 180°
(C) 180° (D) 72°
(D) 72°
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85.  Hard disc of a computer is a/an : 85. foell DAY Dl gl fovd BT B
(A) Input device (A) Y fearsd
(B) Output device (B) AT Reared
(C) Storage device © B .
(D) All of the above
(D) ST
86. Which of the following is a 86. 9 # ¥ &1 T& TR TR
computer storage device ? feareq ¢ ?
(A) Magnetic tape (A) IR o
(B) DVD ) DVD
(C) Pendrive © I e
(D) All of the above
(D) ST
87. Ethyl bromide on treatment with 87. RieR WSS & WY fhar wRa Uldr
silver cyanide gives : qHgS ST @
(A) CH;z CH, CN (A) CH; CH, CN
(B) CH3CH,NC (B) CH;CH,NC
(C) H,C=CH, (C) H,C = CH,
(D) HC=CH (D) HC = CH
88.  The hybridization of C atoms in 88. H,C=C= CH,3"] i C WTQI@T Eal
H,C = C = CH, molecule are : TP ©
(A) sp?inall (A) T F sp2
(B) spinall (B) BNE sp
(C) sp?,sp andsp? © sp?.sp Tsp?
(D) sp, sp?andsp _
(D) sp,sp®Td sp
Series-C B.Sc. - B020101T/ 564 Page - 26



89. The most stable conformation of 89. Qgﬁ H qaie  WRl Gwur
ethane is : (FTFHTEH) B
(A) Staggered (A) iR & (@)
B) Eclipsed
EC; o P (B) UK WU (Vhfelwe)
ew
(C) fawereia wu (v)
(D) All are equally stable _
(D) I THM WU ¥ Rl 8
90. The essential condition for optical ~ 90. Y3 WfhIT & oy AT oI © :
activity is : (A) BT C WA &l SuRefer
(A) Presence of chiral C atom (B) arfoas ermfica
(B) Molecular asymmetry ©) R = @ SuRefy
(C) Presence of centre of
(D) AT del & IRl
symmetry
(D) Presence of plane of
symmetry
91.  The correct order of stability of the 91. 9= FEYHERAT & Wi o 8l HH
following carbocation’s is — S CH, = CH— EHZ CH3CHZEH2 CaHsEHz
i i : ® m®
CH, = CH — CH, CH3CH,CH, CgHsCH,
X) 9] 2 (A) X>Y>Z
(A) X>Y>Z B) Y>Z>X
B) Y>Z>X C) Z>X>Y
©) Z2>X>Y D) Z>Y>X
D) 2>Y>X
92.  The +I effect is shown by : 92.  +1 9 yERd foar o ®
(A) —CH; group (A) —CH;g &N
(C) —F group (C) —FO9E &Rl
(D) —CgHsgroup
(D) —CgHs;9qz g1
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93.  Number of electrons present in the 93. PRI & TFERM C AT @
valence shell of positively charged EITH B H SURYT  goldeHl Bl
C atom of a carbocation is : T
(A) 4 (A) 4
(B) 6 B) 6
<€) 7 ©) 7
(D) 8 D) s
94,  Which of the following reaction  94. 4= # & @19 M Aegad fharefia
intermediate is reactive ? 27
(A) Free radicals (A) T T
(B) Carbocations (B) Y e,
(C) Carbanions
(D) All of the above ©
(D) ST W
95.  Which of the following is a 95. {49 § 9 ®F e TN Rl A4S
nucleophilic reagent ? 27
(A) OH™ (A) OH-
(B) CH, (B) CH,
(C) AlCl; (C) AlCl,
(D) c* (D) Ct
96. Which among the following has 96. f= # ¥ foaar @%1‘0[ BHTQ:UT affers
highest dipole moment ? 27
(A) CO, (A) CO,
(B) BF; (B) BF,
(©) NH, (C) NH,
(D) NF; (D) NF,
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97. In free radicals, hybridization of  97. Hdd W ¥, Hgﬁﬂﬁ SAGST G dTel
the C atom carrying unpaired C WRHAT BT HHT BT &
lectron is :
electron is (A) sp
A
( ) Sp (B) sz
B 2
( ) Sp (C) Sp3
3
(C) Sp (D) SpZ'qup3
(D) sp? or sp?
98. The correct order of stability of  98. DRI & W P Fel PH & :
carbanions is : (A) e > Rdgs > mafie
(A) Tertiary >Secondary >Primary
B) fgiws > gie > mafie
(B) Secondary > Tertiary > Primary
(C) Primary > Secondary > Tertiary (© > 18 -4
(D) Primary > Tertiary > Secondary (D) RIS > qes > fgeias
99.  The optically active compound is : 99. UHIRG wU W Wk VfH 2 :
(A) 1- Chlorobutane (A) 1- %ﬁ?ﬁ@@?
(B) 2 - Chlorobutane B) 2- %ﬁ?ﬁ@@?
C) 1- Chloropropane
© prop © IR
(D) 2- Methyl-2- chlorobutane
(D) 2- HiYA—2-FARIGCA
100. Propanal and propanone are : 100. YU TG G B
(A) Chain isomers ( A) W FHTIT
(B) Position isomers (B) Refy wwag
C) Functional group isomers
© ST (C) TsharcHe |¥E HHIGIq
(D) Metameres
(D) w19y q
Xdhkdkkk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.

Series-C

B.Sc. - B020101T/ 564 Page - 32



